TN E

I=RIN

EEL TP

fhze (R01)

TH4 | R2f. AESEESE OREHKX) /- fEE BT FE (3 HEX Sy el
) TRy | R
THX 5y - TAE - 85 - A5 Biks HLAZ He (milal) e (4m) KR e
LR -
= 1
R AT
= 1
(==
= 1
BRI 3051 FE R CEB ERIR Y £ 5T
m3 570
Wy ))-b7 ny) L
= 1
W) =87 ny ) HEAS 77wy ) FEE (U EF T ny), 7 0y)
Tl (R 1 1.976t, 7" ny A 4
L 1 15
L
= 1
1)) - MEE L
= 1
avyy=} av9 )= Mg 1 18-8-40 (FIF)
m3 112
BN RIS - £2:SD345 D16~25
(7/h=%)
t 0.35
1E7KAR LB R AR AR - <15 CF200 X 5
m 62
1

=
i
i




T

IEI\’(L\\

fhze (R01)

=S8
TH4 | R2f. AESEESE OREHKX) /- fEE BT FE (3 HEX Sy el
) TRy | R
THX 5y - TAE - 85 - A5 Biks HLAZ He (milal) e (4m) KR e
H itk H bR OFEAE  VEHHEE H HidR =1
0, F bR & : )£ 10mm
m2 32
ks UM FiE : — AR
m2 210
GUED
(BHRED7 T i ie)
T 447
297 A = ¢ 19%600
A 128
P s T
= 1
HEE P BUE L T
= 1
) -ME2 Y DY R 3emb L T
m2 240
SR AL T
= 1
I R 20 ) = ik (HEfR)
m3 7
WALSY R ) 20 ) - gk (JEfR)
m3 7
G
= 1
9 - 8




P24

= g/0

fhze (R01)

J_‘L:i%‘ E:I‘/ )
TH4 | R2f. AESEESE OREHKX) /- fEE BT FE (3 HEX Sy el
) TRy | R
THX 5y - TAE - 85 - A5 Biks HLAZ He (milal) e (4m) KR e
LB - R ) L
= 1
St N HAEGRES
#m2 153
+o5
% 285
151 T
= 1
15 1R T A VESER 4y i - s
m 46
A R
= 1
SR AR A B
A H 10
BB TR
= 1
B ER
= 1
Lima® (Fi L)
= 1
ol T
= 1
g 8




TR ERARZE (R01)
TH4 | R2fE+E AmiErs OGREFHX) /- fmEE #TF (3 HEX )y A
) TRy | R
THFXSy - LA - FER - M5 B HAT KR (i) Yo (4] KR S
B E A
= 1
T
= 1
— PR
2 1
T
= 1
T AR K Ot 5 3 2 iR
= 1
TH&EGF
2 1
- R U




